SWITCH-PROS
L] ]

Steering Wheel Mounting Kit
Polaris RZR Pro R/Turbo R 2022-2024, Pro XP 2020-2024
PN: RZKT-8001, RZKT-0001

Kit Includes:
Power Module Mount (1) Switch Panel Mount (1) Steering Wheel Bracket (1)
P-Clamp (1) Plastic Grommet (1) 12” Coiled Cable (1)
5/16"-18 x 3/8” Allen Screw (2) 6-32 x 1/4" Allen Screws (4) M4 x 6 mm Black Allen Screws (2)

Required Tools:
T40 Torx Wrench 10mm Socket 4" Allen Wrench

7/64” Allen Wrench 2.5mm Allen Wrench

Mounting The Power Module

1) Remove the driver’s side seat by pulling the lever at the bottom of the seat. The seat will then tilt forward
and can be lifted out. (See Figure 1)

2) Install the power module onto the supplied mounting bracket by inserting the supplied screws from the
back side, securing the serrated nuts on the power module side. (See Figure 2)

3) Loosen the front battery strap bolt using the T40 Torx Wrench and slip the power module and bracket
under the bolt. Tighten until snug. (See Figure 3)

4) Install battery cable to the + side of the battery. Be sure cable is secure to prevent movement.

~r -

Figure 2

Communications Cable Routing
Note: this will consist of removing the driver side kick panel of the center console.

1) Remove the center console storage area by loosening the Y4 turn fasteners (See Figure 4) and 4 T40 Torx
screws. (See Figures 5 and 6)

7
- e
3 1,"\
Figure 4

Rev. 1 4/2024 1



SWITCH-PROS
L] ]

2) Remove the 3 push button clips and 9 T40 Torx screws holding the Driver’s side panel to the center
console. (See Figure 7) There is 1 push button clip under the rubber shifter cover. (See Figure 8) This will
allow you to pop the center console up and remove the side panel.

Figure 8

v ‘ :._2 -
o |

1) Pop off the steering wheel center cap; this can be done easily by pinching it and pulling toward the rear of
the vehicle.

2) Install the switch panel, into the mount, using a 7/64” Allen wrench and the 6-32 x 1/4" Allen Screws with
the supplied brackets from the system kit. (See Figure 9) Install the coiled cable using the small grommet
and a P-clamp to secure it. Slide the P-clamp around the mounting bracket, tighten screw. (See Figure 10)

3) Install the Steering wheel bracket using the 5/16” Allen screws and a %4” Allen Wrench. (See Figure 11)
The tighter bend will go towards the bottom of the steering wheel. (See Figure 12)

4) Install the Switch panel mount to the steering wheel using the M4 black Allen head screws using a 2.5mm
Allen Wrench. (See Figures 13 and 14).

Installing the Switch Panel

Grommet

Figure 10 Figure 11 ' Figure 13 ’ Figure 14

5) Route the coiled cable to the right of the steering column, and secure with a zip tie to the factory coiled
cable mount. Connect the communication cable to the coiled cable and route the cable along the center
console. (See Figure 15). Secure with zip ties along the way. The communication cable can enter the
battery storage area where the seat belt wiring is. Connect the communication cable to the power module.
(See Figure 16).

Figure 15

6) Connect your output power leads to the colored output leads of the 16-pin harness and customize your
system programming, using a smart phone or tablet, and the Switch-Pros app, which can be found on both
the Apple App Store and Google Play Store.

If you require additional assistance, please contact us at www.switchpros.com or phone 949-581-2991.

Rev. 1 4/2024 2


http://www.switchpros.com/

